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QUESTION 1

The behavior analyst reviews Sandra\\'s data and concludes that her behavior is spontaneous; that is, it occurs

randomly, and not as a result of any other event(s).

Which of the assumptions underlying behavior analysis has been violated in this interpretation?
A. determinism

B. empiricism

C. philosophic doubt

D. parsimony

Correct Answer: A

QUESTION 2
Which situation is the BEST example of contingency-shaped behavior?
A. A task analysis is used to teach Lilly how to clean her room.

B. Dean is able to change the scale on a computerized graph after reading "how to" instructions.

C. Billy\\'s mother tells him not to touch the stove because he could burn himself. Billy does not touch the stove.

D. Jennifer sees a candy bar and she mands for it. Jennifer\\'s sister gives her the candy bar and she eats it.

Correct Answer: D

QUESTION 3

In order to obtain the GREATEST increase in the value of an identified reinforcer after satiation has occurred, the

behavior analyst shoulD.

A. deliver the reinforcer non-contingently.
B. reduce the magnitude of the reinforcer.
C. thin the schedule of reinforcement.

D. temporarily remove the reinforcer.

Correct Answer: D

QUESTION 4

An establishing operation is any change in the environment whicH.
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A. momentarily alters the effectiveness of the consequence for a behavior that was previously followed by
reinforcement.

B. alters the timing of a behavior and momentarily alters the frequency of the behavior that was previously followed by
reinforcement.

C. alters the effectiveness of some object or event as reinforcement thus momentarily changing the likelihood of
behavior that was previously followed by that reinforcer.

D. alters the effectiveness of some object or event as a contingency-shaped rule and at the same time changes the
momentary frequency of the behavior that was previously followed by reinforcement.

Correct Answer: C

QUESTION 5

A major benefit of product recording is that:

A. it is the easiest recording method.

B. it is used when a behavior results in a certain tangible outcome.

C. the observer does not have to be present when the behavior occurs.

D. one can always determine who engaged in the behavior that led to the product that was recorded.

Correct Answer: C
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